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MR. EDWARD J. MULLEN: For just over four years, SFAS 97 has had a very signifi-
cant and, at times, somewhat troublesome effect on the eamingsof publiclyheld
companies - at leastthose companieswith significantblocks of universallife and
deferred annuity business. However, I think that companies over this time have
begun to cope with some of the issuesthat have come up. Each of the three
speakers will present ideas on a variety of issues relatingto this important accounting
pronouncement.

The first speaker will be Bruce Darling. Bruceis a seniorconsultingactuary with Ernst
& Young in New York, and he will beginby presentingsome ideas on management's
perspectivesof SFAS 97. FollowingBruce's talk, Howard Rosen, vice president,
responsiblefor financialreporting at Conseco,will talk about his company and some
SFAS 97 issues that affect Conseco and similaroperations. After Howard's talk,
Craig Reynolds,an actuary with Milliman & Robertsonin Seattle, will discusssome
problemswith SFAS 97 and possible solutions,as well as presentsome assumption
sens'Cdvityanalysisfor a model universallife product. At the conclusion,Bruce Dading
will talk about some practicalissuesthat we hope will provokefurther discussionfrom
the group.

MR. BRUCE R. DARLING: I'll be talkingabout making sense of resultsunder SFAS
97. SFAS 97 is fundamentallyfocused on the gross profit stream of the types of
products that are accounted for underthis pronouncement,basicallyinterest-sensitive
products like universallife contracts and deferred annuities. Becausethe gross profit
stream is the focus of the pricingin most companies,in setting the objectivefor
retums from these types of products, it seems a shame not to tie together the
pricing, reporting, and measurement of resultsso that these things feed on each other
ratherthen being totally independent. As part of the accounting,what that means is
going a few extra steps instead of just concludingwith the basicfinancialinformation
requiredfor your financialstatements. I'd recommend you create some additional
exhibitsfor your product linesand years of issues,that tell you what your projections
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of gross profit streams actually have been and are projected to be into the future as a
by-product of the valuation process. Then, since SFAS 97 also calls for an unlocking
of your amortization schedules that as experience deviates from what was expected,
it seems to make sense that you would update these streams for your unlocked
experience and ongoing projections of the future.

Now, a change in the amortization rate that comes with unlocking of your deferred
acquisition cost (DAC) amortization schedules is always a flag for management
attention. If something has happened in the current period for which the valuation is
being performed, that event needs to be known by the people who are in charge of
the product and the product line or business segment within the product line. Either
something has just occurred that management should know about or there is
something underlying the product's profitability that is affecting its future profitability
as well. Management must ask two questions. First, what differed from our
expectations? And second, what can we do about fixing any problems? Can SFAS
97 help us to get at these questions?

First, let's look at some aspects of SFAS 97 that differ from what we would probably
liketo see in our product management reports. Perhapsthe most criticalshortcoming
is that you probablywill not get a level returnon equity (ROE) pattern by duration
even if allbest estimate assumptionsare met. In fact, not only do you not get a level
return on equity, but you also don't reallyget a level return on your gross profits,
which is the basisof your model. The reasonis that the accrualof DAC takes place
at the credited rate, rather than at the earned rate under the contract. So there's

going to be a differencebetween the level returnon marginsthat you'd expect and
what you actually get out of the model.

Another differenceis that becauseyou're usingbest estimate assumptions, quite
often you don't use exact pricingassumptions. Pricing,in my view, is often optimis-
tic; if we get what we want, then we will make the profit objectivesthat we want.
Sometimes the accountantswon't let you be so optimistic in SFAS 97 reporting.
Also, pricingmay includetrends that you would not be using in accounting. Finally,
pricing may includeindirector overhead expenses that would not necessarilygo into
your accountingmodel. So, in summary, you have to make adjustments. You can't
use SFAS 97 resultsdirectly without understandingsome of these other influences
and makingadjustmentsor accommodations for those influences.

Another thing that often confuses usersof SFAS 97 numbers is what unlockingdoes
to the stream of earningsthat's recorded underSFAS 97. I think it's pretty essential
to understand why you get the resultsthat you do under SFAS 97. Whenever you
substitute actual for expected, or changefuture estimates of what's going to happen
in your gross profit stream, you ought to understandexactly how that affects your
earnings. It's helpful to separate the components of unlocking into these different
elements.

There was an article published in the Financial Reporter newsletter (March 1992).
Unfortunately, the Financial Reporter left out the definitions of the variables in the
formulas, but it does go into detail on how to get to these components of the
unlocking picture.
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The amortization was higher or lower. It's fairly easy to break it into particular
components. The first one is the dynamic amortization effect and that's the deviation
in your current period estimated gross profits from expected times the prior schedule
amortization rate. So, if you have a difference of say 10% more gross profits, you're
going to get that much more amortization in that period than you'd previously
expected from this effect. It is called dynamic because it is similar to the approach
that is used in traditional amortization: because you have a difference in persistency,
and you apply factors times the new in-force business, you get a dynamic effect.
This is what we mean by dynamic.

The second piece is what I call the current year unlocking effect. That's where you
have the current period gross profits times the difference in amortization rates. The
amortization rate is equal to the present value at issue of the deferrable acquisition
cost over the present value of gross profits. So, if you are changing the gross profit
stream, you are going to change that present value, and you are going to get a
different amortization rate. And that change in amortization rate times the current
period gross profits is the unlocking effect.

Finally, you have the cumulative catch-up or retrospective adjustment. And that's
essentially equal to the accumulated past gross profits times the change in amortiza-
tion rate. It happens that these three items just sum up, and these three pieces give
you your total amortization variation for the period. If you want to go deeper into the
mechanics than what I have outlined in the article, there have been a couple of very
good Transactions articles - one by Joe Tan and one by Mike Eckman - which not
only took this approach of defining these components, but took them down to the
source of earnings levels as well.

That leads me to the next topic, source of earnings. Source of earnings means taking
the deviation from what you expected in your gross profits and allocating it to the
various influences that produced it: interest deviations, credited rate deviations,
expense deviations, and persistency deviations. There also is mortality if we're talking
about a universal life-type product.

What this does is to help you understand what the source of the deviation was for
the period. We talked about how mechanically that comes into the final numbers that
you produce under SFAS 97. As I said, there are some excellent articles. I'm not
going to go into detail on how to calculate source of earnings, but will refer you to
these sources.

Even though it is valuable to understand these influences, it also is important to
understand that many of them are offsetting in any given period, and that you often
can achieve your profit objectives even if something is higher since something else
may be lower. The important thing is to look at the total gross profit stream of the
product. Again, when managing your products I urge you not to stop with the
reporting, but to schedule out the gross profit streams that have historically been
achieved on blocks of business and to project forward into the future, so that you can
see the magnitude of the contributions from each product and how well you're doing
against your objectives. With that, 131let Howard talk about what's been going on in
Conseco.

1005



RECORD, VOLUME 19

MR. HOWARD L. ROSEN: As Ed said, I'm vice president of Rnancial Reporting with
Conseco in Carmel, Indiana. As many of you know, Conseco is a faidy rapidly
growing organization,very much involved in acquisitionsand mergers. In fact, in the
last three years, we've been involved in four reasonablysized acquisitionsthat have
increasedthe sizeof our company. Our primary product line is deferred annuities
which are primarilysoldthrough financialinstitutions. Just to give you a perspective
on Conseco and why we are so involved with and concernedabout SFAS 97 issues,
I thought I'd give you an ideaof what the company looks like (Table 1).

TABLE 1

CCP and CNC Insurance, Incorporated
InsuranceUabilitiesMarch 31,1993

Net of ReinsuranceCeded
($ Million)

Future Policy Benefits CCP CNC Total

Investments contracts 3,3t 5.6 5,594.8 8,910.4
Limited-payment contracts 152.0 1,361.8 1,513.8
Traditional life insurance 174.3 210.0 384.3

Universal-life-typecontracts 477.6 188.3 665.9
Claimspayable and other 62.7 71.3 134.0

Total InsuranceLiabilities 4,182.2 7,426.2 11,608.4

These numbers do not includeBankersLife & Casualty, which we acquired in
November 1992. As you can see, most of our productsare in the investment
contract area, primarilysingle-premiumdeferred annuities(SPDAs); so most of our
work in the GAAP area involves SFAS 97 in some manner, way, shapeor form.

{ would like to briefly discuss some of the issuesthat are affecting Coneeco. Some
of the issues clearly relate to lines other than SFAS 97 products. I will try to focus
on how the issues are specifically affected by and effect SFAS 97-Wpe products.
The two topics that I would like to talk about are the Emerging Issues Task Force
(EITF) position on purchase accounting and how the present value of profits (PVP)
asset now has to take SFAS 97 into consideration for these types of products.
Second, I will discuss the treatment of realized capital gains, both in the unlocking
methodology work that everybody does, probably on an annual basis, and also on an
interim basis, when you just don't have the time, the facility, or ability to go through
and do a full reprojection exercise.

Let me move into the first topic. It has been common practice for companies to
acquire other companies. If the acquiring companies are publicly traded, sheet, they
would establish an asset known commonly as PVP or PVFP.the Present Value of
Future Profits on their opening balance sheet. The asset is frequently calculated by
projecting future prof, s and discounting those future prof, s at a risk rate of return.
Now I say generally because, I know through my experience in a prior life as a
consultant, that it is not universally accepted, and it is not the universal practice for
companies to project profits and discount them back at a risk rate of return. When I
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say risk rate of return, I'm talking about 15-18%. Some companies take a different
approach. However, it is clearly common practice to use a risk rate of return.

it also was common practice for companies who are involved in acquiring blocks of
SFAS 97 type of products to ignore the SFAS 97 aspects, such as expected gross
profits (EGP), unlocking, etc., when they set up a present value of profits asset. The
PVP was not the present value of estimated gross profits. The PVP was the present
value of financial statement profits, which includes things other than just elements of
EGP. It certainly was the practice for companies to then accrate interest to the PVP
asset, as it moves along, using the odginaldiscount rate.

Last year, some time around the middle of the year, the SEC looked somewhat more
carefully at PVP than it had in the past. There was a new chief accountant at the
SEC. He looked at the practice. My understanding and recollection is that the chief
accountant, representing the SEC, took exception to the practice that the industry had
used to account for PVP and the accretion of interest. The SEC then turned to the

AICPA and its Emerging Issues Task Force and told them to take a closer look at this
methodology. The EITFthen raised certain issues. The issues were first, whether it
is appropriate that interest be sccreted on the PVP asset not just for SFAS 97 but for
any products. Is it an earning asset, or isn't it an earning asset? Second, if it's
acceptable to accrete interest on that asset, what should the level of interest be?
And third, and this is very critical as far as SFAS 97 products, if you look at the
recoverability of that asset, and there's some change in your expectation as to the
future profit stream, should you make a change in the pattern of amortization? How
should that change be implemented?

Finally, how do you measure recoverability? In my opinion, the recoverability issue
has not been thoroughly considered. As you will see in a couple of minutes, if you
measure recoverability in certain ways such as the same way that you amortize the
asset, unless your block of business is terrible, you will never have a recoverability
issue. This is because, if you are establishing an asset at 18%, and measuring
recoverability at 8%, you have really got to have a bad block of business or your
initial estimate has got to be way off before any problem will appear.

What were the conclusions reached by the EITF and how are they affected or how
do they affect SFAS 97 products? First of all, the EITF concluded that it was
appropriate to use interest and accrete interest to the PVP asset. Second, the
amortization method should be consistent with the method used for the underlying
DAC in post-purchase business. Here is where SFAS 97 jumps in for the first time,
because by analogy, we are saying that present value of prof'rts asset for SFAS 97
products (e.g., universal life, SPDAs, etc.) should be amortized the same way that the
DAC asset is amortized. Again, by analogy, that means you have to use an unlock-
ing procedure.

Note that for SFAS 97 products, we had a gross amortization percentage that
normally would be less than one for DAC. When you're talking about the present
value of profits, if you're in strict compliance with the accounting literature, APB 16
on purchase accounting, your gross amortization percentage would be one or very
close to it. The reason that it would generally be one, is that your present value of
profits asset is intended to represent the fair-market value of the book of business
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that you've acquired in the transaction. So theoretically, by definition, you should be
capitalizing 100% of your gross profits. When you amortize that, your gross amorti-
zation percentage should be one.

For SFAS 97 products, adopting a methodology similar to DAC would require cumula-
tive adjustments. Whenever there has been a material difference between actual and
expected experience in the current period, or your expectations about future experi-
ence have changed, you should go through an unlocking exercise. Again, just as it is
possible to recapture DAC that has been written off previously, by analogy, the EITF
position is telling you that you should now be able to recapture a present-value-of-
profits asset that has been written off.

There is a grandfather date. The grandfather date is November 19, 1992. For
acquisitions occurring after that date, the amortization methodology for SFAS 97 PVP
as well as SFAS 60 PVP should employ the findings of the EITF. So for SFAS 97
products, you'll be dealing with restatement and unlocking. For acquisitions com-
pleted on or before that date, the current methodology can be continued with, as we
understand it, the following exception. Again, this is common practice which is not
universally accepted in the industry. There are some companies, Conseco being one
of them, which, when they measure the recoverability of the present value of profits
asset (and by the way, we do test our prepurchase lines of business, wholly separate-
ly from post-purchase) adjust the discount rate as necessary. That is, when we test
the recoverability by line of business, by company, for a PVP asset, if we have found
(and we have on occasion) that there is an apparent recoverability issue when
discounting at the original risk rate of return, we will take the discount rate down to
the point where the PVP becomes a recoverable asset. The theory behind that is the
present value of profits asset is in the nature of a financial asset acquired in acquisi-
tion and if the yield isn't what you thought it was when you bought it, what is it
now?

The one exception in the grandfathering process is that for pre-November 19, 1992
transactions, it is no longer acceptable in the eyes of the SEC,the EITF or the
AICPA, to take a PVP discount rate down below the level of the then current liability
rate. So, again, this is where SFAS 97 jumps in. If you're looking at the PVP asset
for a block of deferred annuities, and you are currently crediting 6.5%, if you must
use a 3% discount rate in order to recover that PVP asset, a write-off is indicated.
The lowest that you can use, would then be the current liability rate.

Table 2 illustrates how the EITF methodology works. I should add that we, at
Conseco, do not have any postgrandfather date transactions. Everything that we
have done up to this point has been a pregrandfather date transaction. So we are,
for the most part, maintaining what I've always considered the traditional PVP
methodology. And virtually all of our PVP assets are at their original acquisition
discount rate.

Traditional methodology says, for some hypothetical block of business, you project
your gross profit stream, the GAAP financial statement gross profit stream, and you
come up with a PVP asset at time zero by discounting that stream at some risk rate
of return such as 18%. Hence, at acquisition you get the present value of this block
of business of $83.5 million. Using traditional methodology, we would then accrete
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18% interest to the asset. Since our assumptions were exactly correct, we would be
amortizing $21.4 million in the first year on a gross basis. In the second year, it's
$20.3 million, and we would be earning 18% on that asset. We certainly would
have no deviations from experience. So our block of prepurchase business would
yield 18%. This is the methodology with which the SEC took exception. How can a
company earn 18% on a block of business when companies that are marketing the
business can't make more than 5% or 6%?

The answer is, hey guys, you set the rules. We're following them. We're not using
smoke and mirrors. This is the accounting model that you set up. Our accounting
brethren took exception and said, "No, you can only accrete a liability rate." Now for
illustration purposes, let's pretend that the liability rate at the date of acquisition was
8%. The way that we envision the EITF methodology working is that you would
take that same stream of gross profits and discount it at 8% and then at the acquisi-
tion date take the ratio of the only two important numbers in this illustration, in this
part of the talk, the $83.5 million and the $134.7 million. You would take the ratio
of those numbers, and multiply it times your gross profit stream and get what I've
labeled as the adjusted gross profit stream. This column contains the gross amortiza-
tion amounts that replace the original gross profits in the amortization process. The
EITF did not say that you had to change the way that you calculate your opening
balance sheet asset. You may still calculate that asset by discounting the stream at a
risk rate of return. But, you would amortize the PVP by accreting 8% (in this case)
and subtracting the amounts in the adjusted gross profit stream column.

The EITF has said intuitively and implicitly that, even if your assumptions are exactly
correct, even if every cash-flow assumption that you've set is met exactly, and you
purchase that asset to yield 18%, we believe 18% is improper. In this case they
believe 8% is the most that you should accrete in terms of interest. So what
happens? You are amortizing the same asset over the same period of time, but
you're accreting lower interest and for the most part, you get lower profits. For the
most part, the real mechanics and whether or not you get lower profits will depend
upon the nature of the blocks of business acquired. We have one company for
which the gross profit stream, if we adopted the EITF methodology in the early years,
would actually be higher.

The EITF PVP is column 5. It is calculated by taking your 18% PVP, accreting 8% to
it, and then subtracting out the adjusted gross profits. As you can see, in this
particular instance, because you are accreting lower interest, you, in fact, have lower
earnings. The income impact is in column A. In the early years, you are earning
lower GAAP profits, after amortization of PVP. In the first year, there is a $220,000
negative impact. In the second year, it is $19,000. But ff you're starting out with
the same asset, and you're amortizing that asset over the same period of time, by
definition you have to wind up with the same total amount of profits, so you make it
up in later years. In fact, after year 22, you can see that the profits turn around.
This type of result for our company is not one that we relish.

MR. CHARLES D. FRIEDSTAT: That was a good example. If you follow the
commonly accepted approach as you have called it, you have an 18% return on
investment in all years. What would your return on investment be under the EITF
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approach? Obviously, it is going to be lower in the early years and higher in the later
years.

MR. ROSEN: I don't know. That's a good question. It will cleady be lower in the
early years, but it is not one that companies that are into acquisitions and turning
those acquisitions to the public, as we have done more recently with CCP and
Banker's Life & Casualty, relish. There is one point that I don't understand and I
guess I will never understand, even though I spent a number of years in an account-
ing environment: if you're making an acquisition and that acquisition was priced to
purchase 18%, and you've been right about everything you said, why can't you earn
18%? I'm sure there is a common theory there.

At any rate, this is the way the EITF methodology works. When you have a SFAS
97 product, you're going to have to go back and reestimate the Gross Profit column,
then go back to issue and reestimate the Adjusted Gross Profit column. A question I
have, and I don't know how it's going to shake out, is what happens when you go
back and reestimate the Gross Profit column and you don't get $83 million?

It seems to me that you're going to have to start with and stay with $83 million
forever. But you're going to have to unlock end you're going to have to restate and
you'll have cumulative adjustments. You can recapture PVP on SFAS 97 lines.

Let me move ahead. The last issue that I'd like to talk about is realized gains and the
treatment of realizedgains in unlocking exercises. We'll spend a couple of minutes on
the traditional procedure and then get into a methodology that we have adopted at
Conseco for interim periods because Conseco is a company that does very careful
and extensive asset portfolio management.

Again, for a company like Conseco which actively manages its asset portfolio, realized
gains and the treatment of realized gains are very critical. We all know that when
you take realized gains, they must be considered in SFAS 97 DAC amortization and,
as I just mentioned, EITF amortization of PVP accounting. There is a general proce-
dure that has appeared in actuarial andor accounting literature.

First, distribute the realized gains to the lines of business from which they came.
Now, for a company like Conseco, allocating the realized gains to companies is not a
problem. They have their statutory portfolios. We know which assets we sold and
on which assets we took capital gains. So we can allocate the realizedgains directly.

The problem comes when we have to allocate gains by line of business, particularly
by SFAS 97 lines of business. This is because not only do we actively manage our
portfolios and assets are moving around a lot, but we do not have a formal asset
segmentation program. The assets are managed by the investment department.
There is reasonably good communication but lines of business do not own assets.
And to a certain extent, because we have single premium immediate annuities (SPIAs)
and deferred annuities, things are internally hedged, but there is no direct asset
segmentation.

Once you have distributed your gains, you then would add the gains to your esti-
mated gross profit streams for DAC and for new acquisitions to your GAAP financial
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statement profit streams for PVP. You would then adjust the future yields because
theoretically, if you've taken the capital gain, you have foregone future investment
income. You would then adjust other assumptions in your projection, mortality, lapse,
anything that has materially changed, and do a reprojection. Then go back and
determine the cumulative DAC and/or PVP adjustment that is necessary. Again,
you're considering capital gains and you do this at times during the year when you've
either planned or have time to do a full-blown reprojection.

But what about periods during the year? You don't take capital gains at one time.
What about at interim dates? Frequent reprojections are just impractical. You don't
have time because if all you're going to be doing is reprojecting, you won't have any
time to help your company make money. So it's necessary to take a practical and
expedient approach. At Conseco we have taken a conservative approach by first
assuming that realizedgains are not accompanied by changes in credited rates. How
do we rationalize that? Realized gains are taken at the discretion of management, as
opposed to changes in secular interest rates, which would cause us to change
crediting rates. We make this assumption to facilitate the methodology that I've put
together.

First, we assume that realized gains are not accompanied by changes in credited
rates. Furthermore, realizedgains change only the incidence of profits, not the total
amount. Why? Because a realized gain in theory, in the perfect world, represents the
present value of foregone interest. So it would represent the present value of a
stream of income, discounted at a rate equal to the yield on the sold assets, for a
period of time equal to the years to maturity of the sold assets.

Now, we would calculate that level amount. We have our gains. We have essen-
tially, by company, the assets that have been sold. I get a listing on a quarterly basis.
But because of timing and because this procedure really happens just before the end
of our reporting period, I'm usually one quarter behind in my asset reports. But we
get a report as to which assets have been sold. The realizedgains, then, represent
some level amount of foregone interest. That level amount is x, and x is the payment
whose present value over a period of years, discounted at the yield to maturity of the
assets, equals the realized gains.

I'm going to allocate that stream to lines of business, pre- and post-purchase. Unless
I've got a serious recoverability problem, it's only a germane issue with respect to
SFAS 97 products, because it's only with respect to SFAS 97 products that I'm
supposed to directly take realized gains into account unless, of course, a recoverability
problem has occurred.

I've allocated my income stream; now what I'm going to look at my lines of business
with DAC and PVP. I take my allocated stream and discount it at whatever the
appropriate DAC or PVP discount rate is. If I've allocated a stream of payments of x
per year to a DAC line of business, ff you will, with a DAC discount rate of 6.5%, I'm
going to take that level payment for, say, 20 years and I'm going to discount it at
6.5%. This becomes the basis for my SFAS 97 amortization. I will then apply my
gross amortization percentage to that number and the result is my incremental
amortization. That is the impact of realized gains on that line of business.
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MR. ROBERT LALONDE" Howard, have you had a chance to think about what effect
the proposed mark-to-market change in asset values will have on the strategy you're
talking about?

MR. ROSEN: Oh yes, in fact we do mark-to-market adjustment - I think we're one
of the few companies that have actually been doing a mark-to-market adjustment
since September 1992. I go through this same type of exercise of allocating realized
gains, in this case, unrealized gains and losses to lines of business. The question is
not what is the impact on DAC or PVP but what would the impact on DAC and PVP
be if we took the unrealized gains and losses we have in our portfolio? We do make
unrealized adjustments to our balance sheet every quarter, to account for that. The
difference is that the adjustments resulting from this methodology for realized gains
and losses run through our income statement and, for all intents and purposes, are
permanent. The adjustments we make for the mark-to-market adjustments run
through surplus and disappear one second after earnings are released. The reason
they disappear is that it's a snapshot of unrealized gains and losses at that financial
statement date.

MR. LALONDE: If that mark-to-market ruling is implemented, it'll be followed just like
the treatment of realized gains.

MR. ROSEN: We believe that it will be an unrealized adjustment.

MR. FRIEDSTAT: On any amounts that go through income, you should adjust the
revenue stream and the amortization under SFAS 97. I don't think the unrealized

amounts will come through net income. The amounts that you're talking about that
will go through mark to market and through the surplus adjustment, should not be
used to adjust the revenue stream.

MR. ROSEN: I would add that we look only at our mark-to-market unrealized DAC
and PVP adjustment on realizedgains that are not taken in the trading account. We
do not consider trading activities at all. And if you're familiar with what has been
going on with the mark-to-market concept (the SEC has decided to force it on
insurance companies and banks), you know it hasn't changed actuarial practice. It's
a reinterpretation of what has always been.

There are three classes of assets. One class of assets is made up of those assets
that are purchased with the sole intent to be traded. The second class of assets is
made up of those assets that are bought with the intent and ability to hold to
maturity. That is, no matter what, you're going to hold these assets to maturity.
The third classifical_on is made up of those assets where if things changed such that
it was advantageous from a business standpoint for you to sellthe asset, you would.

MR. FRIEDSTAT: I think the interesting question ties in with Bob's comment.
Assume you have securities that are in the trading category, where the gains and
losses would go through the income statement as realized gains. V_/_hthose realized
gains, which are realized in the income statement but not realized in the sense of
having sold those assets, would those or should those gains or losses be added to
your estimate of gross prof"rtsfor SFAS 97? It probably should for trading category
assets that are allocated to the SFAS 97 lines of business. That's where I don't think
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that many companies have thought about the effect of this rule on their operations
and income. Do you have any thoughts about that particular question?

MR. ROSEN: We would rationalize that assets in our trading account back capital
and surplus. Therefore, we would not have to consider that.

MR. FRIEDSTAT: Okay. That may be an appropriate allocation if you have the
flexibility to do that, but wouldn't you agree that if there are assets in the trading
account backing a line of business, that you would have to reflect these realized gains
on assets you haven't sold in your estimated gross profits?

MR. ROSEN: Theoretically you would, but I would question whether or not the yield
on those assets, which are always on a mark-to-market basis, was taken directly into
account in your SFAS 97 assumptions, and your gross profits. That is, if those
assets had a market yield and you sold them to realize the market yield, hypothetically
you've already considered it.

MR. FRIEDSTAT: I think though that we're starting to be concerned about whether
companies are saying, "If we, for whatever reason, allocate assets in the trading
account as backing a line of business, this could cause wide swings in our earnings
for the year, just because of the change in the carrying value of those assets."

MR. ROSEN: Agreed. Now we've allocated our realized gains by line of business.
We've taken present values for our DAC asset. We have applied the gross amortiza-
tion percentage to the amount of money and we've said, okay, this represents the
incremental amortization that we should take because of the realized gains. We will
then write off our DAC.

We do the same thing for PVP, except with PVP we are discounting that stream at
some rate, like 18%. Wrth PVP however, at least on a theoretical basis, your gross
amortization percentage is 100%, because the PVP asset, conceptually, is 100% of
the fair market value of the block of business that you've acquired. You would then
look at the margin for recoverability that you have in your present-value-of-profits
asset. Theoretically, you would not be required to take a write-down in the PVP until
you've eaten through your margin. Again, we have generally taken the conservative
tact at Conseco, that we have no margin and so to the extent that I've allocated
gains and I've discounted them at 18%, I'm going to take that write-off.

So, let me close by saying this is the methodology that we've adopted at interim
periods. It's not intended to be theoretically pure. While I'm trying to get it as
theoretically pure as I can, it's a practical expedient. It is generally done at the
eleventh hour during our reporting process, because it is not until the end of that
process that we know what our gains are. But we do use it, Now every year when
you go through your formal unlocking process, you cleanse your soul. You clean up
all the approximate activity because you will go back and you will cumulatively adjust
for actual experience. Then, the next quarter, you start the process again.

The final point that I mentioned a little bit earlier with respect to realized gains, is that
these adjustments go through the income statement. With respect to unrealized
gains and the mark-to-market adjustment for debt securities, the adjustments run
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through surplus and as soon as the flnancials are released, the adjustment is gone.
Why? Because it's based on a snapshot of unrealized activity. If I've taken an
unrealized adjustment to DAC or PVP based on $100 million of realized gains, interest
rates shift and go up, and I no longer have any realized gains or unrealized gains in
my portfolio; I have no basis for any adjustment.

MR. CRAIG W. REYNOLDS: I am from Milliman & Robertson in Seattle. I am going
to talk about some less esoterical and more practical or basic aspects of SFAS 97.

First, I'd like to talk about something that we all know about: the problems with
SFAS 97. First and foremost is the lack of information. That is something with
which everybody struggles. Second, there are clumsy systems, difficulties maintain-
ing the amortization schedules, and problems building the models. Third, assuming
that you can go through the steps of creating an SFAS 97 model, we found that
most of our clients are not really doing any sort of meaningful analysis to understand
their results. I am going to talk about that a little bit and tie it into some of the things
that Bruce mentioned.

Perhaps what's most important is once you jump through all the hoops, and have
prepared SFAS 97-based financial statements for your company, we would like to
think that there is a potential to get more use out of the information than just
preparing a financial statement. There is a lot of work in information gathering. You
don't want it to go to waste.

I will talk about each of these issues a little more. Lack of information can take

several forms. First, it may not be timely. To the extent that companies are doing
lapse studies, mortality studies, etc., that sort of information is often not available until
long after financial statements need to be prepared. There may be an inadequate
level of detail in the sort of information that you do get. Companies often try to
maintain SFAS 97 DAC amortization schedules on a product level, or even an age
level basis in their model. The information is often not available at that level of detail.

Finally, at some companies, some information is not availableand you are stuck.

I also am going to get into the area of systems. We have seen some pretty scary
things. One of the most common problems that companies have is that there are just
too many cells in their model. Sometimes, for reasons of practicality, or for reasons
of model fit, it is desirable to have a large number of cells representing every plan and
issue year of any significance that you have. Perhaps you might even have several
ages or sexes within each plan. BUt for purposes of maintaining an amortization
schedule, using that many cells is usually very impractical.

Second, we've seen some scary things with companies that are trying to keep their
models updated to adjust for actual experience, where they make numerous interim
sorts of adjustments to their assumptions, trying to force their models to fit actual
experience. We have come up with more approximate, but certainly acceptable,
alternative methods. We make adjustments in aggregate, rather than tweaking
assumptions. I will talk more about this later.

When we start talking about the analysis of deviation, there are essentially three key
questions that should be asked. First, what caused the deviation? Is it a question of
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just having bad information to begin with when you built your models? Has there
been a legitimate change in our experience? If it is actually a change in your experi-
ence, you need to know. Is it a one-time occurrence or is it something that is
recurring? Now that's often something that requires judgement to decide. Suppose
lapse rates go up in one year. You do not often have a basis for deciding whether
that is going to continue. But as we will see when we get into the examples I am
going to show you in a few minutes, that is a decision that has a very material
impact on your financials in the current period.

The third question you can be asking is, given that we have changed our assumptions
and that we know what the change has done to the current period's earnings, what
will be the impact in the longer term on the earnings of the block of business or for
the company as a whole?

Finally, before I get into the examples that show how we can solve some of these
problems, I will discuss the inadequate use of information. Suppose that you have
gone to the trouble of building a SFAS 97 model (often a similar model or a subset of
what you've used for cash flow testing or other purposes). You have a wonderful
opportunity to tie that back to your pricing and your repricing process. By SFAS 97"s
very nature, if you are maintaining a schedule of bo_h history and of future, you have
a real opportunity, that many companies are missing, to manege your business. You
can now look at your financials and ask, when we priced this business we were
expecting a 14% or 15% return on equity (ROE). We know what we are earning in
terms of ROE this year; do we have any reasonable basis to know whether our profit
goal is still reasonable or not? If not, what can we do about adjusting spreads,
adjusting loads, etc., to try and correct those problems?

Now lets look at some solutions or partial solutions to these problems.

First, when we work with situations like this, a key criteria that we look for to achieve
success is small models. As I mentioned earlier, we may have a large model in terms
of a large number of cells to develop a projection. In fact, we will usually develop a
projection using a large number of cells. But it is not desirable, or even necessary, to
maintain the DAC schedules on a cell-by-cell basis. Typically, we will aggregate the
results for all of our model cells for a given major product or product category for
each issue year. We then have a much smaller number of amortization schedules to
maintain.

Each year we would like to base a projection of the future on a new in-force file and
current assumptions about what we believe is going to happen in the future. We are
going to reproject the block of business going forward in terms of what we expect for
the gross margins in the future. When we do that, since that is being done every
year, we are going to have available to us, what we projected last year for that block
of business and what we projected the year before for that block of business, and so
on.

Conceptually, we start with issuing a block of business. We do an initial projection,
which is used only for one year. At the end of that year, we do a reprojection and
we take what we projected last year for activity prior to this year, and combine it
together with this year's projection of the future.
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That overlay process is often cumbersome. Allocation issues are one of the key
reasons that it might be cumbersome. Consider an example of something like
commission payments. You may have some assumptions in your model about rates
of commission payments. You know that your deferred annuities are paying 6% for
example and you are deferring that. But many companies often do not take into
account commission bonus programs and overrides in developing their initial model.
Oftentimes, these are not anticipated. If it is nearly the end of the reporting period,
allocating that sort of experience down to model plans or cells is often difficult.

Typically, we use our projection model and some tools we built that allow us to
overwrite selected model results with actual experience. Actual experience may be
an aggregate number, perhaps total commission payments, or perhaps it may be
broken down by issue year or plan. But whatever level of detail we have, we then
allocate our experience down to the major product-issue year cells in proportion to
what our model had projected. So the model is used as a basis for allocation, but
then we scale the model numbers up or down to hit the actual for that year.

That is a key for how we proceed. I have worked through some numbers here that I
am going to talk about for a hypothetical insurancecompany that just started issuing
universal life businessthree yearsago. We are goingto look at what happens with
this company. It is issuinga backloadedUL, with a fairly typical levelof profitability.
When a couple of different things happento their experience,then you will see what
is important and what you can focus on when you are gathering information.

The first case we are going to look at is where even/thing happensexactly as
expected. For the second case, interest spreadsof the product are reduced from a
2% anticipated at issue down to 1%. We alsotest a 20% increasein lapse,
mortality up 20%, and an examplewith somecapital gains. We are goingto look at
the three middle examples (with the reduced spreads and mortality and lapsesup)
two different ways. First, what happens if you assume that these deviationsare one-
time shocks that have occurred in one year. Second, what is the effect if instead of
assumingthat it is a one-time shock,you assume that it goes on forever. What is
the impact?

Now, the first and most obviousway that the informationis used is to look at the
DAC. That's a big part of what SFAS 97 is all about. The numbers in Chart 1 are in
thousands of dollars, relative to a base DAC of about $250,000. The first column
shows the effect on DAC if we just adjust the interest spreaddown 1% for 1992
only. On the other hand, if we assume that it goes down for 1992 and later, the
DAC effect is in the opposite directionand of a much greater magnitude. VEr(hthe
lapses,a 1992 lapseadjustment causesthe DAC to go down. Becausethis is a
young blockof businessand the surrendercharge revenue is greaterthan the lost
revenue or lost marginsfrom interest margins,amortization increasesin the current
year, and if we assumethat the lapse adjustment goes on forever, DAC goes down a
little bit further, but not as dramatically as the difference was on the interest spread
change. You see similarthingsfor the mortality and for the capitalgains.

Any one of these thingscould happen to your company. Is there any way you can
look at those resultsand make any sense out of them? Anybody can certainly crank
through the numbers and preparea statement, but then you have to go to your
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managers and your officers, and explain why earnings behaved the way they did.
What is happening?

CHART 1

Changes in DAC Due to Experience Deviations
Total Effect

5-

-5-----
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-15 _,_

-20..........._1 2 3 _4_.................5 6_--_-7 ........

1 1992SpreadAdjustment 5 1992MortalityAdjustment
2 1992+SpreadAdjustment 6 1992+MortalityAdjustment
3 1992LapseAdjustment 7 CapitalGainAdjustment
4 1992+LapseAdjustment

There are few key thingsyou can do. First,you can look back at the amortization
rate, the currently anticipated presentvalue of deferred costs to the presentvalue of
expected margins. In the left column of Chart 2, we see an amortization rate of
about 0.42. That was expected. If the interest spread goes down for just one year,
the amortization rate increases ever so slightly. It is a one-time shot. It does not
matter all that much. On the other hand, if the spread reduction continues forever,
there's a huge increase in the amortization rate. It jumps up to about 0.55.

Similarly, for the lapse-rate phenomena, there were just very slight changes in the
amortization rate. The mortality adjustment can get moderately significant ff it goes
on forever. The capital gain does not have a great effect. You have a large realized
gain in investment income in the current year, but it is offset by lower yields in the
later years.

Now that is a start towards getting some understanding. But if you want to get
some greater depth of understanding of what is going on, some of the things that
Bruce has talked about can be helpful.

Using the terms that Bruce used - dynamic amortization effect, cumulative catch-up
effect, and the current-year unlocking effect - you can look at what happens for each
of these changes. With the 1992 spread adjustment, the DAC has gone up because
the current year's spread income was lower than was anticipated (Chart 3).

1018



SFAS 97

CHART 2

Amortization Rate
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3 1992+ Spread Adjustment 7 1992+ Mortality Adjustment
4 1992 Lapse Adjustment 8 Capital Gain Adjustment

CHART 3

Changes in DAC Due to Experience Deviations
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1 1992 SpreadAdjustment 5 1992 MortalityAdjustment
2 1992+ SpreadAdjustment 6 1992+ MortalityAdjustment
3 1992 Lapse Adjustment 7 CapitaJGain Adjustment
4 1992+ Lapse Adjustment
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Therefore, less amortization takes place in that year. That is the dynamic amortization
effect. There are smaller effects related to the current year unlocking and cumulative
catch-up.

If you look at the next column, if the spread goes down in 1992 and beyond, the
dynamic amortization effect is the same because that is a change due entirely to
what has changed in the current year. But the cumulative catch-up effect and the
current year unlocking effect go in opposite directions and completely drown that
effect out. You can do a similar sort of analysis all the way through, until the capital
gain adjustment in the far column is very dramatic. The effect is very dramatic
because I used a very contrived example, where half the portfolio had very significant
gains in it and was turned over.

Looking at an analysis like this is very helpful and I thank Bruce for pointing it out to
me. To see where you are going and what is causing it gives you some feel for
what is going to happen in the future.

Now once you have all that information, what do you do with it? One of the things
you can look at is the effect on the bottom line. Once you have a model built and
maintained, you can start thinking about pricing and you can look at two different
things.

In Chart 4, the darker bars reflect the ROE in the current year for the block of
business for which you are using GAAP. The lighter bars represent the cumulative
ROEover 20 years for the block of business. If you do an analysis like this, you can
start to get a feel for what is important and what is not. You will see what drives
things in the short term versus what drives things in the long term. For example, in
the far right column, the ROE has gone way up in the current year due to the capital
gains effect. On the other hand, the overall lifetime of the business ROE is insignifi-
cantly changed. In fact, very few one-time, one-shot things are going to have a
material impact on the lifetime ROE of the business. Some of them are going to have
a fairly material impact or decrease in the current year's ROE, but very little will have
a product life cycle effect.

On the other hand, you can see what happens if you project a continuation of current
experience. For example, say it is 1992 and you get a 1% spread in that year alone,
and you decide to see what happens if this reduced spread is effective forever. You
can see that the cumulative ROE of the product has dropped from a relatively healthy
13.5-14%, down to something below 10%, which most companies would probably
find unacceptable.

I think these are the sort of figures you need to be looking at as you adjust your
assumptions and look at them. If you start to see on a block of business that you're
getting ROEs like this over the lifetime, it starts to bring home the fact that, being
willing to give up this sort of spread is probably unacceptable from a GAAP earnings
point of view. I think this is a healthy sort of thing that we try to look at whenever
we can.
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CHART 4
GAAP ROE
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Some of the clients that we deal with are not as GAAP-eamings-driven as many
companies out there. They go through SFAS 97 for the exercise more than anything
else. Sometimes these companies are smaller companies of larger parent organiza-
tions. Sometimes the parent is overseas and the U.S. GAAP is less relevant. You
can still get value out of this exercise. Most companies would not otherwise maintain
a record of historical earnings on a block of business because it is not really relevant.
You are generally looking forward. However, once you've gone through the effort of
building an SFAS 97 model, even if you are not GAAP oriented, you can then use
that model and that information to do a similar sort of analysis on the basis of
statutory earnings.

In Chart 5 we show the presentvalue of statutory profits for the block of UL
aggregated together and the effect these experiencedeviationswill have on the
statutory earnings. So again, this is the sort of opportunity you have to gather this
information and start screeningout what is material, what is not, what you need to
worry about, and what you do not.

To recap, the key things you shouldbe lookingat now, to decide ifyou have a good
SFAS 97 procedure are:
• Manageable model size;
• A system for using the actual data where it is known;
• Where it is unknown, use either model projected data straight out, or use the

actual to the extent that it is known and use your model to allocate actual;
• Profitabilityanalysison the business, so that you get some understandingof

how and why the DAC is beingaffected by the experiencedeviations.
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CHART 5

Present Value of Statutory Profit
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MR. LALONDE: I was lookingat your GAAP ROEcharts and thinkingwhat if you did
the calculationyou made for the whole universallife or annuity line of business-- you
have GAAP ROEs and GAAP surplusallocatedspecificallyto that particularcompo-
nent. Which means there are all kinds of complicated questions to which you must
answer, what do you do about taxes and allocation of assets and how did you get
GAAP equity in the first place?

MR. REYNOLDS: In this case, it was really easy, because I did not have to worry
about those things; they are contrived examples. In a real world, I think you are right.
There are some complicated issuesthere, and I think, typically, we would do the
analysis based on some concept of target surplus associated with the line of busi-
ness. We would decide what the company's target surplus levels are and allocate
them down to each line. You are right; it is not very useful to look pt it in the
aggregate for purposes of deciding on corrective action and what is material and what
is not. You are going to want to be down to at least a product level, perhaps even
the issue-year level. One of the advantages of maintaining a product issue-year cell
basis is that you can track two different things. One, you can look at the level of
probability of different products relative to each other. If you have issue-year-specific
models, you also can track and look for cross-generational subsidy, with which a lot
of companies have trouble. The one on taxes is one I have not thought about a lot,
but I am sure there are some issues there too.

MR. DARLING: We have had some very interesting discussions. I want to discuss
various practical issues related to SFAS 97.

First, I want to explain the handout, "FAS 97 Revisited." It is a survey of SFAS 97
practices that was conducted by Ernst & Young in 1991. At that time we took a
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look at the practices of 25 of the 30 largest insurance companies. It addressed about
100 different issues related to the implementation of SFAS 97. This survey was
taken just before AICPA Practice Bulletin 8 came out. So the practices that are
described were used prior to that practice bulletin. For example, at the time, there
was no guidance that SPDA should be accounted for using the universal life-type
accounting model. Also, it wasn't yet clear that capital gains should be included in
estimated gross profits. So, I think that on a couple of those counts, the practices
that are described in this booklet have probably changed a little to conform with what
the practice bulletin is requiring.

The various companies reporting on SFAS 97 have evolved in their practices as
they've learned what works and what doesn't work. As Craig was pointing out, I
think that there's a growing feeling that factor-based methods do not work very well
for a number of reasons. They don't provide much management information because
the factors at a cell level applied to some basis have no intuitive meaning in and of
themselves. But also, there's a problem in finding an appropriate basis on a dynamic
business like interest-sensitive universal life or SPDAs. It's tough to take a factor,
apply it to a basis, and have it meaningfully capture all the nuances of variations in
persistency, expenses, credited rates and everything else that has occurred in past
periods to bring you up to the current valuation date and have all of the elements of
the gross profits trued up appropriately. You could just completely redo your model
by truing up the assumptions and then you end up with a factor that's different. But
again, it has no intuitive meaning, and it's very cumbersome to do. You have no real
comfort that once you've done it that the factors are correct. There's nothing
intuitive about a factor.

On the other hand, many companies are going to a worksheet method, where they
are looking at products by issue year and using a model that will project the elements
of gross profits or deferrable expenses. Aggregating those up, plugging them into a
spreadsheet, and then calculating the DAC amortization provides you with large
aggregate numbers at a level that a product is being managed. It provides manage-
ment information at the same time it gives you some intuitive comfort that what is
going on makes sense or doesn't make sense.

This booklet addresses a number of different items, including management issues and
some problems that may have been seen at the implementation and classification of
products, and treatment of various types of products. At the time that this survey
was conducted, the primary management issue really related to the fact that compa-
nies were not yet using SFAS 97 information for product management. They were
just doing it because they had to do it. They were not really ready at that time for
unlocking. I think this is another area in which companies, especially those that have
gone to the worksheet method, have improved their processes. They have built in
the unlocking processas a normal piece of the process, rather than having it some-
thing that's difficult and cumbersome to do. It doesn't end up beingdelayed for a
periodof time until it makes a biggereffect than it had to make. Instead it's being
done on a routine basisas valuationperiodsroll on.

The other issue that is mentioned in here, that I think is still important, relatesto the
classificationof products. SFAS 97 productsare not liketraditional products inthe
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way that they're reported in the income statement. They do not show premiums as
revenues. They show charges as revenues.

Likewise, in benefits, they do not show the fullamount of the payment to the
beneficiary or to the customer; they just show the differencesfrom the account value,
as far as benefits are concemed. What that means is that if you show on one
income statement, or balance sheet, the combined effects of traditionalbusinessand
SFAS 97 type of business, it's extremely confusing, because the expense lines,
interest eamings lines, investment income lines, and capital gains lines are all compos-
ites of two different types of business yet you have revenues in terms of premiums
for one and charges for the other. Those are often on different lines in the income
statement. But then the benefits are all aggregated together into benefits for insur-
ance products and for annuity products, they are all lumped into one line. Conse-
quently, without additional information, a user of that financial statement is left high
and dry, in terms of understanding what's going on. They have to take on faith that
the bottom line makes sense, because analytical measures of what type of return you
are getting on your revenues or on your premiums are not really provided. Manage-
ment of companies, on the other hand, have the opportunity for a great deal more
insight, because they have those breakdowns and they're often given a line of
business' financial results that are appropriate for the particular product. So, manage-
ment should make use of that opportunity.

Now more recently, and not described in that booklet, we have conducted another
survey of DAC practices on SFAS 97 types of products. Unfortunately, we have not
finished compiling the results. I am not able to provide any results for this session,
but I have looked at a few of the company's retums, so I can give you an idea of
what's going on. One of the things I have seen is that there's movement to the
worksheet method. In terms of the types of things that we surveyed, we looked at
what's considered a deferrable cost, how companies are setting their DAC discount
rate, DAC amortization period, what they're doing about capital gains, the mechanics
of DAC calculations, model construction, and unlocking, and the relationship of GAAP
reports to other management plans, which is a hot button with me. I think that you
ought to be taking the effort to reconcile your SFAS 97 projections to your business
plan, to your pricing, to your in-force business management, and to your long-term
plan. It doesn't necessarily mean that they all use the same assumptions, but you
need to understand how they interrelate, and how one supports the other.

I'd just like to jump ahead to one other issue and that's the treatment of capital gains,
which has already been addressed a little. I wanted to get my two cents worth on it.

AICPA Practice Bulletin 8 is the guidance that says you have to include capital gains.
It says that expected gains and losses from sales of investments related to universal
life-type contracts should be included in the determination of estimated gross profits.
It does not distinguish between credit-related gains and losses or gains and losses that
are due to shifts in the yield curve. One of the things that makes a difference, is that
SFAS 97 limits the investment earnings, which would include capital gains under the
AICPA's interpretation, to the level where assets equal account values. Now you
may be managing your business where, if you get a large gain due to a shift in the
yield curve, you're still attributing it to your business. But under SFAS 97, you're
probably going to be replacing those high-yield assets that created that gain with
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lower-yield assets, and it is that revised lower-yield that you're going to have to use in
your projection of the estimated gross profits. So you really are trading future
investment income for a current capital gain, and it really can cause a huge catch-up
adjustment in your SFAS 97 reporting. On the other hand, credit related gains or
losses typically would produce a one-time spike in earnings which is offset to some
extent by the dynamic effect of unlocking. And they're replaced by similady yielding
assets.

Now another practical problem that you have with SFAS 97 is allocating capital gains,
because asset segments are not usually equal to the account values. They're usually
based on statutory segments which are different in amount. We've seen practices all
over the lot in terms of the way that companies will try to shelter their interest-
sensitive lines from capital gains so that they don't have unlocking effects. But it is
pretty difficult to avoid in the end. You usually have some of the assets supporting a
line that will have a capital gain or loss at some point.

MR. CLIFFORDA. LANGE: When will the most recent survey that's being completed
be available to us?

MR. DARLING: At this point, it's a small survey that was conducted for the benefit
of a group of companies that were participating. So it won't be generally published.
However, if you have specific questions about specific topics, give me a call. I'm in
the Yearbook, and if I can address it quickly I'll be happy to answer your questions.
If not, maybe we can end up with a more extended discussion. But I'll be happy to
give you the insights that I have on it.

MR. FRIEDSTAT: One of the observations that Howard made was how he adjusted
on an interim basis because of realized capital gains. Craig's illustration brought out a
point that I had seen with other companies. Many companies, especially when they
are between an unlocking, use the amortization rate, the so-called K factor and just
multiply that by the realized gains allocated to the line of business to determine the
adjustment for the increase or decrease in DAC due to realized capital gains. Is that
substantially the same as what you're doing? Sounds like your adjustments were a
little more complicated than that. I think simply multiplying by a K factor should give
essentially the same result.

MR. ROSEN: We made the implicit assumption that when we take a realized gain
that we're not changing the amount of the profits, only the incidence of profits.
Therefore, from the standpoint of DAC, we would just take our gross amortization
percentage and multiply. But what we in fact did, and this is a little theoretical, is say
that the realized gain itself is an amount that is discounted conceptually, where the
yield rate is the yield on the assets sold. We have allocated a stream to a line of
business where, when we measure the recoverability or the continued appropriateness
of the asset, we're measuring it at a different discount rate. So we've taken that
partial stream and we've discounted it at whatever the appropriate discount rate is.
By doing that, we're saying that if we had the time to plow the impact of the realized
gain into our profit flow, and we still measured recoverability the same way that we
always did, what would that do to our present value of available profits? That's why
we discount st a different rate. But in essence, once I've done that for a DAC line,
I'm going to multiply the gross amortization percentage by that K factor.
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